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  Period____Date________________Inverses of Logarithms

Find the inverse of each function.

1)  

  

y = log (

 

−2

  

x) 2)  

  

y = log

 

1

4

   

x
5

3)  

  

y = 

 

log

 

1

5

  

x − 4 4)  

  

y = log
3

(

  

4

  

x
 − 4)

5)  

  

y = log
2

(

 

3

   

x
3) 6)  

  

y = 

 

−7 log
6

(

 

−3

  

x)

7)  

  

y = 

 

log
2

(

   

x + 5) − 9 8)  

  

y = log
6

(

  

4

  

x + 4)

9)  

  

y = log
5

(

  

3

   

x
3
 − 6) 10)  

  

y = 

 

6 log
2

(

  

2

  

x
 − 7)

11)  

  

y = 

  

6 log
5

(

 

−4

  

x) − 7

12)  

  

y = 

 

6

   

x

4

-1-



©6 F2g0l1d2b ZK2uftha7 vSwojfhtcwWa1r4e7 WLQLACc.j H aAblBlY UrJiTgghOtYsj frfewske7rgvXeYdh.Y O 3MJawdEeN Xw7iJtyhZ 2IEnSfjiXnqiLtteD CAGljgseZb0roaS V22.R Worksheet by Kuta Software LLC

13)  

  

y = 

   

5

 

1 + 

  

x
 + 1

 

5

  

x

14)  

  

y = 

  

5

  

x
 − 8

15)  

  

y = 

 

5

   

x

2 16)  

  

y = 

 

−
1

 

4

 

1 + 

  

x

17)  

  

y = 

 

(

  

4

  

x

−2
)

 

1

3

18)  

  

y = 

 

(

  

4

  

x
 − 1)

 

1

5

19)  

  

y = 

 

(

  

5

  

x
 − 7)

 

1

4

20)  

  

y = 

 

(

  

(

 

1

5 )

  

x

 − 2)

 

1

2

21)  

  

y = 

 

(

   

3

  

x
 − 8

−3
)

 

1

4 22)  

  

y = log
5

   

3

  

x
 + 9

2

23)  

  

y = 

 

(

   

3

  

x
 − 4

−2
)

 

1

2

24)  

  

y = 

 

(

   

3

  

x
 − 9

3
)

 

1

5

-2-



©m d2g03162O PKfuPt8ay QSqoBf9tcwFazr8eP TL1LACz.B 5 wAtlDl1 urUi2gbhVtMs9 brTeNsxevrdv3erdK.s 8 KMCaGdQeD 9wUiZtShO ZIanaf1ian1iltoeA FArl1gVe0bPrMaj 12d.W Worksheet by Kuta Software LLC

Kuta Software - Infinite Algebra 2 Name___________________________________

  Period____Date________________Inverses of Logarithms

Find the inverse of each function.
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